WORD PROBLEM

Q1) If a box has 8 rows of 6 apples each, how many apples are there in
total?

Q2) Sarah buys 7 packs of pencils, each containing 12 pencils. How many
pencils does she have in total?

Q3) Agarden has 5 rows of trees with 18 trees in each row. How many
trees are there in total?

Q4). A car travels 55 miles per hour. How far will it travel in 7 hours?

Q5). There are 9 students in each row and there are 8 rows. How many
students are there in total?

Q6) A baker bakes 24 cookies in an hour. How many cookies will he
bake in 9 hours?

Q7) A factory produces 150 units of product every day. How many
units will it produce in 30 days?

Q8) If one packet of candies contains 25 candies, how many candies are
there in 20 packets?

Q9) A school has 12 classes with 28 students in each class. How many
students are there in total?

Q10) A farmer plants 15 rows of corn with 45 plants in each row. How
many corn plants are there in total?
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Q11) If a machine produces 175 items in one hour, how many items will
it produce in 8 hours?

Q12) A train has 14 carriages, and each carriage can hold 56 passengers.
How many passengers can the train hold in total?
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WORD PROBLEM

1) 8 x6 =48 apples

2) 7 x12= 84 pencils

3) 5x18 =90 trees

4) 55 x 7 =385 miles

5) 9 x 8 =72students

6) 24 x 9 = 216 cookies
7) 150 x 30 = 4500 units
8) 25 x 20 =500 candies
9) 12 x 28 = 336 students
10) 15 x 45 =675 corn plants
11) 175 x 8 = 1400 items

12) 14 x 56 = 784 passengers
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